i TrbTnpsc.co
www.Padasalai.Net WVYW | m —
, ATHEMATICS / samflgi
WJ CODE | VI | 11|15 M
Al . - °
) ; ' &SI USTUS ST 6ThGL LSTUTETS)
uglClauedr 2 210 8 b 0 g1.  Which property satisfies the ot Zﬁ:;&%% sifss6 usmmmu  Eone|
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Aot spefiding too much time on any one question. & B CErsmsé Qennfiésmos Crisen Bag / 7 ix + - 2)3x+1 / 1) Ex & '2‘ ) 3x
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97.  The untr.ll angle of the semicirele is 97.  geraul LSS muwsGasmma ' 104. The comparison of two quantities of 164, 67 i B\(® TS USSSO
0 180" 2) 60’ “ky 180" 2) 60" the same kind by means of division is typoold LGRS )
3) 360" 4) 90" 3)360" 490 } termed as 1) sfléipein 2) ezt )
1) proportion 2} ratio ) 1Slersorio 4) Qurg) smyewflge
98. The ratio of 10 months to 1 year is 98. 10 uTs5SNEG 1 m@Lgél,m@m A 3) fraction 4) common terms
nHtio:l 2)1:10 @smu_(BuJqurm AL ’ n
3)5:6 4)6:5 1)10: 2)1:10 S 55 105. If the angle of rotation of an object is 36", 108. 0 Qun’@ﬂﬂm’ s1nélé Camemid 36°
SN 35 6 H6:5 then its order of rotational Symmetry is steufled, Sy sye swEs auflens
1)-10 2)3 110 2)3
99.  If 7 men can complete a work in 45 99. 7 puissTt @ Coumesmw 45 mmsefid . 34 4N 3)4 45
days, in how many days will 9 men @wﬁﬂmﬂ'ﬂtﬁﬂf stells) 9|Gs Gousmevema 9. - , . . . ..
finish the same work? Gurt sTEZemaT Lr,m_aaaﬂsu (prglumreer ? ' 106. The range \of the/ first\ 5 prime 106. (60 S usm srerraserfledr 6565
T B QNN
3)- ; ) : 1 . ) 1)7 )
Iy : 36 419 . 3)6 49
100.  Which of the following will be the 100. Sydsremid 5s JREGSET : . " R
sides of a triangle? N @%gmﬁg,miﬁﬂi@%ﬂﬁ@ T 107. The point (3.-8) lies in the quadrant 107. (4, -8) sreinp sirs) @b QU STHLGS
1)6,412 2) 4,5, 11 1)6,4,12 24,511~ !?(l ' ) 2y 11 ;):l i;:l\}
3)3,5,107 - 4)3,4,6 e T 33510 ~4)3,4,6 31 A) 1V )
‘ i i ; sTetaalstT uitSemig e
{01. What number should be subtracted .1 R (5% i08. The sum of two squares of two 108. @@ Gued
: 1 2 -)u sublractee B 5 Db 6T TSTTEDETIT 5@9{”‘“;’ e ’*! natural numbers is 13, then the En. P60 13 srenflsh, Syeuaficy sTedTaseir
__ from '5’ to get — 2 . - numbers are 3 ni,5 2)2,4
5 3. , o5 BoLben? e : 1,5 22,4 33 4)2,5
Ng cene. D55 ) f NS 32,3 4)2,5
N . 2 7 €
1 .2 l)g 2) 35 i l 109. Product of two irrational number is 109. @@ afHsypT “5"“5’57“5“ Qup&sD
3 7 4) ; — = - A a4 1) always irrational 1) sriGugih eflA B LpmT sTetor
1 2 ! z 2) always rational 2) sriiGuTZID EAS ! Teer
5. 7\ 73 i 3) always integers 3) rIGUITEID B (P(Q TTET
: ‘ : i 4) either irrational or rational 4) AT Jyeg AESYD T
102. The cube of an even natural number 102, 1 @ULG!DL @luﬁ“ sTetor s rflsiT ﬁﬁmﬂ-“"@l . s
is ) @m-sm_ 6T6UIT ' o W 110. The multiplicative inverse of -12 is 110. —12 6 QU@BSSR gmm&si@
1) even number 2) ypem sTetir i ' 2 1) 12 2)==
2) odd number 3) eflg o eredor ; 0 hi2 D12 ! 12
3) irrational number 4) ugm eTeuaT. o s hk ) i GE e s |
4) prime number : - . 31 — 40 A5 ) 40
103. A polygon in which atleast one angle 103, 8GU® Garrmrg,ﬂm @“”IDEM 86 -b -
is more than 180 is called. Gomammoreug 180"-gg el ‘n (-]
1) convex BoHEsTH g LT Sl
2) concave 1) @55 unGaTemTd {
3) regular 7 2) @\fiey U GasmsTTLd :
4) irreguiar 3) RUHIE UnGaTemTL
) @uhisH usGa e
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111.

112.

113

114.

115.

116.

117.

6

SCIENCE / oyflsflwied

Atmospheric pressure at sea level is 111, &L& wC L5860 euaflosmm e ETCELER

1) 10° N/m’ Wiy
2) 10* N/m’ 1) 10° N/m’
35 10° N/m’ 2} 10" N/m’
4) 10> N/m’ 3)10° N/m?
45 10° N/m’
The unit of pressure Nm™ can be 112. g@égg,@sﬁf SQSTET Nm? ersrug
calledas  m————= 616 QEPSSILOEMG). .
t Pascal ; 1) LiTeug6s
2) Newton “2) Bl Ledr
3) Joule 3) ;36
4) Candella 4) Gae@Lsosom
Household circuit is connected by 113. si@sefe) @evemraiu@io Herapg
1) simple circuit 1) sraflw WBstTama
2y Parallel circuit 2) ubs ElememTly &Ml
3) series circuit 3) Qgm_i @smewriiy &HYI
. 4) None 4 s7gIfisbenso '
Sea breeze is due to 114, &L6 S1HyY —=——— L6 & HaurSng
1) conduction 1) Qaulué sL-Ss0 )
2) convection 2) Qeuliué gsveonid
“3) radiation 3) Qeauius sdHiaiss
4) gravitation 4) yalirriiy eflens g T .
The shining of diamond is due to 115. esunld WsTEIRISHEG SMTeTLD
1) reflection 1) st Qpmeflo
2) refraction 2) gaflaflessn
3) total internal reflection 3yl s erH@mafioy
4) none 4) s7gflsbensn
The least distance of distinct vision— 116, &6 GpUTLHD weflgefsr Ay Lmiams
of human eye for a’normal person o_quT(HL QTEmae) —————
is 1) 15 Q&b 2) 20 Q.
1) 15 cm 2)20 em : 3) 25 Qa5 410 Qa5
3).25 em 4) 10 cm
36 km/hr = -immmmmmseee m/s 117. 36 &H.uf/wewfl = ——————— 1f / efpmg
11 2)10 N1 2)10
3) 100 4) 1000 3)100 4) 1000

CAKAr IOV v —

118.

119.

120.

~131.

122.

) 3) nichrome

123.

www, TrbTnpsc.com

The following graph represents
Y

Distance

he— X

time

1) uniform speed

2) variable speed

3) objectat rest

4) non-uniform speed

An electric cell is a device which

conveits

1) electrical energy to chemical
energy

2) chemical energy to electrical

_ energy

3) heat energy to electrical energy

4) light energy to electrical-energy

Find the odd one out
1) electric toaster

2) electric iron box
3) electric bulb

4) room heater

-------- mirror is used by the Dentist
1) plane 2) convex
3) Double convex: 4) concave

The coil used in electric heater is
made up of
1) tungsten 2) copper

4) aluminium

The inventor of lightning arrestor
1) Sir Issac Newton

2) Benjamin Franklin

3) Faraday

4) Edison

118.

119.

120.

121.

122.

123.
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1) gymeor Geusld
2) rgur® Geusid

- 3) QuirseT Hemsoiuns 2 6reTsnLo

4) & Geusio

AsransSd maL Qumih gLHne wrhmi

1) iflsirermbmed Cougummmeors
wrhpiuGHDSG. _

2; Caudwmbmed LAetrammHmeuTe
wrppiu@Eng.

3) Geuliu QMM lsraTTHmeuTE
LTHPILGSMSI.

4) geflurpsd LilsTTTTHMEUTE
wrooliuGSnS!.

QUTEBESTHmSS Sam@llpSeaid
1) Qrm_ip. &G s G

2) iflstr Catiiliy Gty

3) ileir efleTE G

4) gemm Qeuliu epliy

U LmSSeTET LWETLESSD  ypudsr
Q@uuw. '
1) suger oy

3 @o ol 2y

2) @8 oy
4) &l o

Aetr e, GL DR LwsiTLELD SDIAE S 6T
————— 60 eI
1) Lr1eivL_ 65T
3) H&Gymd

2) g
4) giifisfiud

Wflsireared AL seirELlySSoul.
1) &1 &8 Byl L 6T

2) QugpaLiletr (AymmiideflsiT

3) oooUﬂ'chL.

4) eTig 6T
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125.

126.

127

8
—————— will dissolve glass 124.
1) Hydrochloric acid
2) Hydrofluoric acid
3) Sulphuric acid
4) Nitric acid
Match the following : 125.
a) Gay i) Lawof
Lussac Definite
Proportions
b) Lavoisier ii) Atomic
Theory "
¢) John iii) Law of
Dalton Combining
. _ volume
d) Proust iv)  Law of
conservation
of mass
Da-iv b-i c—ii d-iii
2)a—iii b-ii c—iv d-i
3)a—iii b-iv c—ii d-i
$a-ii. b-iii c—iv d-i
When ice is allowed to melt in a 126,

flask, it becomes water. During this
physical change, its mass

1) increases

2) decreases

3) increases or decreases

4) remains the same

When iron pswder mixed  with 127
sulphur is heated and -allowed to

cool, a grey brittle compound -------

is obtained.

1) iron oxide

2) iron hydroxide

3) iron suiphate

4) iron sulphide

N i A 55 T

—————— SETETT Mg DS &SNS SRS

1) smamLCrrECearmilé gileui
2) smanl Grresueshfls gjlsuin
3) 5556 Il
4) eopLifl& gyfluid
QuTmEEs
a)  Gogesd i) wmprellds
sl
b)  evsumblw i) 9Ems
QsmsTens
¢)  gmeir iii) L(HLsIT
Lm6bL_63T @enemriy
aflg)
d)  CGemeivl iv) GumEeTanD —
© 0 sfureld
I)a—iv b-i c—ii d-iii
2)a—iii b—ii e-iv d-i
Ma—iii b—iv c—ii d-i
Hha—ii b-iii c-iv d-i
&Oanfgyster - Usésl g M@&ﬁf

2 (HGWLeUTg), FiTs Lnrrgufn @is @wmiSued
wrHmSSeTCUTS), gqg,m Hlemm

PREEELLCTE '

2) G6nOULD

3) &éxeﬁrﬂ&&mnm I|6g) @mggquurrm
LTI @mEELD

@iy, SOUGLET SHHS ORlLILGES,

@efiielsaiu@ntursl, 2 60L& lglL,
gmoue Hp —————— Gaiold 2 maurdng.

) @Gy gémamb .

2) @iy emanlyrsmevh

3) @iy FGUL

4 @iy sssu®
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128.

129.

130.

131.

132.

133.

134.

9

One nanometer is -------- 128.
1) 10" meter 2) 10° meter
3) 10 meter 4) 10* meter

Coconut oil solidify during the  129.
winter season due to

1) increase in temperature

2) decrease in temperature

3) increase in pressure

4) decrease in pressure

Vegetables and fruits turn brown 130
ori cuiting and exposure to air is
due to the formation of

1) Keratin 2) Creatinine
3) Melanin 4) Tanin

Which base is associated with the 131.
process of digestion?

1) Sodium hydroxide

2) Magnesium hydroxide

3) Calcium hydroxide

4) Ammonium hydroxide

Choose the incorrect statement 132.

1) Acids have a sour taste

2) Strong acids are corrosive in
nature

:3) Acid turns red litmus to blue

4) Acids are good conductors of
electricity

Protein contains « 133,
1) amino acid

2) fatty acid

3) deoxy ribonucleic acid

4) ribonucleic acid

White phosphorus is an example 134.
for
1) Rapid combustion
2) spontaneous combustion
33 Incomplete combustion
4) slow combustion
’
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1107 Bt 2) 10%48
3) 1078 L 4) 108 Lﬁl_l_n

GfifsrngHn Carismi sreir Gl
SlstrLolnreds SmewTLD

1) Qeauliuflene 2 wifeugsd

2) Qauiufeme Gmpeagmed

3) SIS S\b 2-WiRIFTE

4) 9SS GMOEUGTE

5mu5;ﬁ15,m whmILh LrbiGeT G\mu; e.rrgmj]su
moud@ia Gurgl LglifmLors Lwimé Sem
1) Gammigsir 2) &iflwm_ig.ememrei

8) Qusureaflsir 4) Lreufler

sfeuT BlepauL 6T QML S
1) Gempwid eamlgTSmen(
2) QusafAud manl Tréeme

:3) smedlwid emanTT&meu®

4) oaGurssfiwih emamlTréamadH

sauTaT UTSHILEMSS SamELlybaaln

1) gl Usfili SauemL g

2) gblevrsst Yf&Eh SeiTenio 2 enL g

3) g{LﬂGUL'ﬂ Aeuliy 601 et Granem Foo Himons
LomH@ILD

4) il BETETTSMmS HETES SLHGsS
Snlpigl

ureSE BnEEh b

1) HGerm vt

2) Qamygly Sifsoid

3) -yl ACUM&GaNé Sjflsth
4) ACumR&aflé ojflsuid

Qesusierumsiourety,  sTeususmawTer  THSMNISE
aR&HssT G ?
1) GousLors erflge
2) seraflFamawns erflge
3) yHmU@uDT sTfge
4) Quglaurs srflge
)

QIS NS wur i G D
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" 136.

ity i @iy Nt i Y

139.

“1)y Corolla

Liquified petroleum gas contains a '
mixture of propane and butane in
the ratio
1) 50 : 50
3) 40 : 60

N

225:7
4)15:8

1]

The brightly coloured parts of a
flower are called ------—--

2) Calyx

3) Androecium 3) Gynoecium

Match the following :

Fan shaped
leaves

a)  Cycadales i)
ii)  Ovules are
naked
present on
flower like

shoot

b) Ginkgoales

Leaves are
pinnately
compound.

¢) Coniferales iii)

Needle-like
leaves or
scale leaves

d) Gnetales iv)

Da-ii b-iv c—iii d-i
2)a—iii b-i c—iv d-ii
3ha—-i b-iii c—ii d-iv
Hha-iv b-ii c—iii d-i

Find the odd man out.
1) Ulva .
:2) Amanita Phalloides
3) Laminaria

4) Chlorella

Envirenment Act was passed in the

year.
1) 1986 2) 1976
3) 1956 4) 1966

10

—
w9
‘N

136.

137.

139.

http://www.trbtnpsc.com/20

e . A A e e L e s

&reu Qi Crmediw eumyellsy 2.6 yGymliGuesr
wpgih A CLeir smmaudstr eflélgrésnilo
1)50:50 2)25:75

3)40: 60 4)15:85

Arsrewrer HpwsoLw waflsr uGH ———--
sTeaTCIL(HILD.

1) gisvefloul L b
3) LSTHES uLLLD

2) yevedleu L LD
4) te&aILLLD

QuTmSsIs

a)  mEsGL 6 i) ol auges

Glensuger

wiGuredTm
getmig i 851
Snis
Rensoufled

2 e
@Gb&iﬁif Scxa]

b) h&CaTGWD i)

¢) CaraflQuGrssn i) fo@ g

Fn 1L Ig EDROESSTT
d) -BLGL s iv) 2adl Qng)
p Qe
Gumetrm
@emeussr
a—ii b—iv ec—iii d-i
2)a~iii b-i c—iv d-ii
3)a-i b-iii c=ii  d-iv
f)a—iv b-ii c—iii d-i

QUIGEETEMES CoiEAsEGEaD.
1) 2_eeum

2) gjuorefiLm LeGsomii_6v

3) Goufiearmflwm

4) @CemrQirsisom

SHMIE Gy s LD Guppiu’L yeu®

1) 1986
3) 1956

2) 1976
4) 1966

S S SN S
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140. Choose the incorrect pairs

i) ' Reduced
stems

ii) Erect
stems

iii) upright
weak
. stems

iv) ~prostrate
weak
stenis

Dl & ii
‘3} !i \& iv

141,
1) Cockroach
2)Crab
3) Fish
4) Frog

142.

Bamboo

eucalyptus

Betelvine

bean

2)i & iv
4)i & iii

—-“have blue blood.

A strong flat sheet of muscle found

below the lungs is called --------

1) chest

3) vibs

3) diaphragm
4) abdomen

143.

Bones have an outer layer of strong

covering- like skin called ---------

1).Plasma membrane

2) Pleura
4} Periosteum
4) Pericardium

W)

14/02 nngm.s-exgrh:_stu_dy-mqgerials:htmI

——h o

140. @ouprer @mersamer Cainbtlsbhisaan

141.

142.

143.

) GNiSELm-hS eLprueled
gouar ()
i) BT ser@® 60 60LTLD
iii) AAiGs Qmﬁ)!ﬁlsmsu
pellEs St @
iv) serGuripw SeuenT
pellss e G
1) ii & iii 2)i&iv
3)ii & iv 4) i & iii
—————— &7 @r&s0 Fabnurs sremTiiu@id.
1) siumer L&
2) pein @
3) e
4) g6usmeT

ymnu.irrgu&@,é &Gy o 6eT  eusSlemiowimar
smes QenEuusE —————— sreaTy) QL.

1) LTYS @
2) el eTepity
3) 2_grellgnarid
4) ypouufim

sgarorer  Gumemsd wplulL  srgyi e
QaaflysmnsE ———-- eretry) Guwi.

1) Aermeioom geiiey
2) YestpiTm

3 Quilwmsioigwih
- 4) Quflgmigwid
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144. Match the following : 144. Qurmsss :

148. Who assumed the title of 148. sThiSTemETS e L
Plants Disease Qe 6T Grmis wSankiranajati”? WSS apEsIuiLEl?
: - y ' fedorLmib WGesfbETeurLosir
a) Rice i) - Mosaic 2)  Qmed N 1) Mahendravarman 1L 9 @nm",'m - AR
discase ! Grmit - 2) Narasimhavarman I ) Hum !B'Té“{"»"‘_\"’_’?"’fm .
3) Mahendravarman I 3) g LGSESTOTLIT
b) Potato ii) Blast b) e (mmearé i) undteur 4) Narasimhavarman II 4) @i FrADLOTIET
disease Sork . g
WEIE Qeutiy Grmi ot " .
- : ; introdt Ql&LD+| [HITEUTTILIS;60)
¢) Groundnut iii) wilt disease . 149. Jital, the copper coin was introduced  149. %?;;;‘u;fgaﬂ ____415_ 5605
¢) CaisLemn i) e Grmi by —------- <
d) Cucumber iv) tikka : 1 d’@’éﬂd?
disease d)  Gleusirarf] iv) p&er GEmi ;; g;‘;lt)l::h 2)%Tsilus&r
Da-ii b-iii  c-iv d-i Da-ii b-iii c-iv d-i 3) Alz-ud-din Khilfi | 3) syeumeyBer Hive)
2)a—iii b-ii e-i d-iv Badil b=lf w=i d=ib 4) Qutub-ud-din Aibak ‘ %) @HuES BUS
Ja-ii b-iv e-iii d-i Ha-ii b-iv c—iii d-i
4)a—ii b-i c—iv  d—iii 4)a-ii b-i c-iv d-ii L is called the “whispering 150. ‘@@@@%@g SIS’
; R ' Ly sTeTmEOYSSILOG ———— =
e is the father of medicine 145. UGESUSHE SHS AT RYSIIGURT saleny
14 Hippocrates i f S ‘ 1) Bidar 1) i
2) John ray 1 ACCLTAGT Lo ‘ | 2 Golgumbaz 2) Caraogiour
3) Aristotle 2) agneinGy %) Gulbarga S)Eaal
4) Theophrastus 3) gflsuLm_igsd N 4) Golconda ¢ 4) CamebgmeiTLT
4) HGwmiymeL 6w
151. Who has been called the ‘father of  151. ‘g,c‘nim gsrrfmy@:nmm@sir ‘g')ﬁmg’
modern currency’? STETOENLRSSLILILL U W :
SOCIAL SCIENCE / gews anflefuis N &5 -. 1) Humayun - 12) et
N : 2) Shershah 2) Gagiiey
3) Babar i) LTS
4 _ 4) Akbar ) St
146. --m-nmmm was the most powerful  146. Wrdsm weranisafio e oSl
Pratihara king . MGG YTeh ———-— ) A
L) Vatsaraid 1 sugeymem : {52. In AD 1665, Treaty of purandhar  152. 19,1665~ QTR ~——=— WHPIS ===~
2) Nagabhatta I1 2) @yeiorLmb preuCLT was signed between ------- and ------ &B‘f’]cm"fﬂm"c;’m LIRS SuUBER
3) Mihirabhoja_ 3) BArCurst snaQuiuiLUuL LG
4) Mahendrapala 4) wCsHAT LT g 1) Shivaji and Afzalkhan . e
: ) ulaiBr Tt i 2) Ahmed shah Abdali and 1) Surg) PO %*“i;]"“'{‘“, i
147, -eeeeemn has been called the “Cradie of 147, “@5wé Gomis s&lyLd smouisr L‘ ' Nadirshah " g ?::3 %&ﬁg;m@?@m rabi
Indian Temple architecture” Qs g6 sTédm . . < 3; Shivaji and Jaising o i i
- : Bl o) SmySeuGag) ' 4) Sambhaji and Jaisingh 4) sibung]) wpgd Gl

1) Pattadakai

) ulLm_&&60

2) Badami 2) urgml
3) Aihole 3) CanrGe
4) Kanchipuram 4) smEsdlyrid
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153. Match the following :

154,

155.

156.

1)

2)

3)

d)

The first -
carnatic war

Battle of -
Plassey

Battle of
Buxar

The first -
Anglo-
Mysore war

a) Bartholomeu - i) Cbé\
Diaz
b) Vascodagama - ii) Blue
water .
policy
- ¢)  Francisco-de- - iii) Cape of
© .. " Almeida good hope
d) Alfonso-De- - iv) Calicut
Albuquerque
Da-ii b-iv c—i d-iii
2)a—iii b-iv c—ii d-i
3)a- b-iii c¢-i d-ii
4ya—-i b-iii c-iv d-ii

: Choose the incorrect pair

AD 1746-1748
AD 1757
AD 1765 ' -

T

AD 1767 - 1769

.The Regulating act was passed in the

year X
11775 2) 1773

3)1778 1771

Who founded \ the city' ''"Gangai

konda Cholapura'
i) Raja Raja Chola-!

2) Rajendra Chola —1
3) Kulothunga Chola - I
4) Parantaka Chola — I

153 QurBsss :

154.

a).

b)
<)

)

1)a—ii b-iv
2hia—iii b-iv
3)a—iv
4)a-i

uni&&Gsomiur
Lwisto
aumevGa T s

SyrsirfenCam —
Le— Q0@

9| GurmeirGerom—
le—QYGTEH

b —iii
b —iii

c—i
c—ii
c—i
c—iv

i) Gameur

i) B Fié
Qamsrang
merar s
(pemenT

iii)

serafls
GamienL

iv)

d — iii
d-i
d—ii
d—ii

saunrar Gemienwus sem@ilySsayh

1)

2)
3

d)

G-y
SHTL&0
Gumi

Werrdlds Gumit
useromt Gumit
PG

LAY
emLogg, T Guir

&
1746-1748

£.9.1757
S0 1765

&Ll
1767 - 1769

155, 9@’3!@@60);[)6 UL Qarer® muuuu._
S @
01775
3)1778

156.

2) W73
@177

"Shmss Qe Gemqtrgsmg
]ﬂmjﬂﬂmmn’ Wit ?
1) (pgeombd megymey Gampsir
%ﬁwm TrGeh Sy Gamypeir

(pgeomd @Gsurrggrma Gamypsir
4) (pssomd UTTESS GCamypsir

|
|

158.

159.

160.

161.

Choose the incorrect statements
i) Lord Warren Hastings put an
end to the Dual government in
Bengal '
ii) Lord William Bentinck created
a permanent police force in India
iii) Lord Wellesley introduced the
system of subsidiary Alliance in
India.
iv) Lord Cornwallis passed the
Bengal Teneucy Actin 1822,

2) iii and’iv
4)ii and iv

1)iand ii
3)iand iv

The Maral paintings of-first pandyan
period are seen in

1) Mamallapuram

2) Ajantha

3) Ellora

4) Sithannavasal Cave temple

“The History of India” was written
by

1) Henry Elliot
3) Macaulay

2) llbert
4) Firdausi

Which ancient Tamil king
introduced the ‘Chain of justice’
during his reign?

- 1) Aditya Cholan

2) Karikal Cholan

- 3) Rajendra Cholan

4) Manuneethi Cholan

The international court of Justice is
situated in

1) Geneva

2) New York

3) San Francisco

4) The Hague

F P R »

158.

- 159.

160.

161.

http: //WWW trbtnpsc com/2014/02/n mms-exam-study- materlals html

SpsmL sl HamTeTauDsniD

Caih0isH&sal.

i) aukisTaTSSen qiuGSSIUCL G L
QL& (POpEL BT y6ar Ggmm.;rzusm Wiy
WeasE Qarem® apgm.

iii) efsbsdluith GlueTigms ATy @hSwmafisy
(ElEDEUILITEIT STEUGIEHDEDIL

2 (HeuTS e,

iii) Qeusb@everued Ay @ESwumallsd

. Sleosmr usnL g SILL Hlener
S ysiubsSearm.

iv) smremsumadlen imy &.9.1822-10 gy
ARIGTET GSSMEHF FLLSOS
HenpGoubier.

2) iii oHgud iv -
4) ii oo iv.

1) i wHmId i
3) i Lommid iv
(PBEMLD LITETITIRULISET aarrsugsé]sur e'.surr
gafluih sremiu@Dh G

1) imosbeuLMD

2) sigibsT

3) sTebGeorym

4) Aggeramaae &smesCamifn
‘@S aursorg’ 6T6HT(D [HIT6ME0

s &weurt 4
1) Qamstrgf st 2) @sburii

3) Qu&arGe 4) NiQgerd

& UL Siflys Losteri SjaumenLiL
LA swsde B emddl’ ympeow
Qarenr® supgmi ? :

1 sy Gomysin

2) sflsme Gampsir
3) @rmCelseSly Gempsir
4) ugBH& Gempsir

Listrenrm () Blusirpid ieminbgisTar G Lb

1) Qegenfour

2) Byyumiés

3) gramigmsrdlsuGam
4) & Gané
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162. The Article of Indian constitution
which provides free and compulsory
education for all children upto the
age of 14 is

1) Article 24
2) Article 39
3) Article 39 (f)
4) Article 45

163. The time duration for singing or
playing our National Anthem is ------
seconds.

1)55
2) 60
3) 52
4)'50

‘

164. The contact
helpline is -------
1) 4172
2) 1091
3) 139
4) 1098

number for

165. Sarada Act was enacted in the y&ar

1)1829
2) 1929
3) 1856
4) 1961

166. The only active volcano in India is
1) Hawaii island
-2) Barren island

3) Andaman & Nicobar island
4) Lakshadweep island

http://www. trbtnpsc com/2014/02

e A o s e L, 2 N — . e =~ o

Child
2

16

162. @L:BQEU Irélwed sTEaTSH 14 QUILGISE
S — IIWETESIS SPEMBSHEHSSLD
Boass slLms sdal gelés
auflumad Qelioug

1) sr6g! 24
2) sr5g 39
3) &7 39 (f)
4) s75g) 45

163. Bug Csdu S55msli UTGLD Zysag
BwesEh TG ————— aflormg &6t
2.

1) 55
2) 60
3)52
4) 50

164. &iprit 2 gal Gy (Child helpline)
6T6ur ——=—
1)4172
2) 1091
3)139
4 1098

165. smrgrr SLLLD C‘nu.l i) T IO TR )

1

1) 1829 e
2) 1929

3)1856 ¢

4) 1961

66. wmﬂmmﬂmmm aCr oo Qammu@m
erflosnew b

1) awaumd Say

2) umyetr Soy

3) gpgurdr & H&ECsTUMT Say
9 wLesday

——

nli!m

s-exam-study-n materJaIs html

167. Match the following :

a) Pedest{l i) formed due.
rock to ice
accumulation
aloug foothill
b) Piedmont ii) mushroom
glaciers “rocks
¢) Cliff iif) desert
environment
d) Yardang iv). steep rock
face
adjoining the
coast
S Tari b c—iv d-iii
Nativ b-i c—iii d-ii
a—i  b-iii c-iv d-ii
$a—iii b-ii c—i d-iv

'168. Arrange the layers from the earth’s
surface to the uppermost layer in the
atmosphere.

1) Troposphere, stratosphere,
ionosphere, exosphere

2) Exosphere, stratosphere,
troposphere, ionosphere \

3) stratosphere, ionosphere,
troposphere, exosphere

_ 4) exosphere, ionosphere,

stratosphere, troposphere

169 The deepest place in the pacific ocean
is -=--=-

1) Mariana’s Trench

2) Puerto Rico Trench

3) Java Trench

4) South sandwich Trench

.

S e . — i~ AP~

167.

168.

169.

QUIBHESIS
a) L CuTsnpee i) LemeLly
UM SSie
uefiS
SISTEET
GoNougmed
THuGag!
b) LsmeUILIgETTL ii) et
ueflwrg LTEnEST
¢) QSN iii) LITEmEVEUETT
(GINLY
d) WL iv) &L
Crrédéu
Qi@ S g Ter
LTeng
“1)a-ii b-i c-iv d=iii
2)a-iv b-i c-iii d-ii
3a—-i  b-iii c-iv d—ii
4)a—iii b—ii c—i d-iv
yefufissr Gopurifsdmbs Q{WL
Qeuafufler UpILEGS eusnly 2_6Tem
susflsiTLe |HSESSeT
aflasiuRS8I5.

1) SpubEES, usmL WO S,
SueluBsE, QauluBsS
2) Qeusf®&ES, uLW®SS
SWOES, SueluG&S

3) uLWESES, JUaLBSE
SpWHES, QusfLBEES

4) QausNuBSS, JuauBHS
LEOLUGEE, SpuBSEE

uANS Guymfuflsir Lils SyipLomesr
256

1) nfwrer YNSSH

2) G NEGsT LSS

3) gyreur G E

4) Qgsir sraim’_eflé GG

Hasd,

- e e e A - < 5
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170. Which of the following statements  170. Spsewn spysef sfiurarapomns 't
are true. CoiECsE&SLD. 176. Thunder st .
i) Cirrus clouds are vertical clouds L] éﬁmml GuassT QehiGsg) CushsmmELd 1) Cydo:,?corraT:f:ﬁe  ntalled 176 @l’w—'-m. Sl Laugd @eiseumgiiy
ii) Stratus clouds are low clouds 2) 5L WL SSeOBES 2000 BLL GSGD o Teiinmmi SiEPSSULGSD)
formed within 2000 meteis BeoLNCCL 2 (TG ST GUakisST . 2 Weather tista T Juisd eenip
; GUSRISET sTETCILIEGILD. a ctories 2) sermAl
iii) Cumulus clouds are medium HemL. ‘ol 2 4 . L. 4) Killer waves " -
clouds which extends upto 12000 3) L6 '-_“'-—'—55]‘6]('55;91 &iomi 12000 BT 9 m"fﬂm‘“ Qﬁ”@menmm
meters above sea level. RGNl 5’_"‘““““@‘” PGQQTT . ; 4) 218t Qsmgih e
iv) Nimbus clouds are high clouds Gw‘f"’*"?"‘_@“‘" G‘:"fﬁ’”ﬁ‘" “‘f’“—"_J@m- 1 5 - :
above 5000 meters above sea, 9) SL60 LLLSSBESI S000 BLLT 7. The study of the science of ----- is 177 =  udfl  uesED sl
level. ‘ 2 ursBie Cudb e Gargh o uwi called Fulminology ‘SLsiflmmags) srsumuaa@ T
Cuashigsr smiuamL CLstissT srariu@bio 1) Earthquake 2) Cyclone ) Pt OS s 2) ungj
1)iand ii 2) ii and iv T o 3) Lightning 4) Thunder 3) Wsiraursd @G
3)iandiv 4) ii and iii:. 0 i b ii 2) ii whgub iv r
. 9 iwpgdiv - &) i wpg i
: ) e e o ﬁ*‘;’;’;f, theodd R ouk 178." Quresstsmss CoijOsGEsab.
2 N P a
171. The largest hydro electric power  171. 2-o&sr flsiGufw ;ﬁm.ﬁlm&aagﬂ !_f,]smmmm 3) Sirbe€ \ e 1) Soumsir 2) yismr
e w 0 4) Loo 3) A& Car a
project in the world is in ----- é\glﬂg@mﬂf O] _-;)—sP . i o ) I
1) India 2) China ) @, . oo 179, The . )
3) Japan ) Ainsiiss 3) spriLimeir 4) 5QufidaT waterpr (:fless l:)’ which plants losc . 179. gramiss  gafsCaismeuis apeotd
‘ e rough photosynthes;g is " srhiiled Biflemer BUEGD Deipay ———
s L g S ™~ L O X h 1) yeflurged
172, -——-mmmm- refers to the violently rotating 172. Seiir spdHdL 6T Sipaith _5_*“'!1’@.5-”. t 1) Evaporation 2) Brmed) Cunés;
columns of air OgrE@Huiimer ————— ear&Comb. i 2) €va apotranspiration 3) B&rHmid
1) Tsunami 2) Tornadoes 1) sLHGsTeT 2) WS SO | 3) Hydration 4) @it ss
3) Earthquake 4) Mistral 3) HREES&SLD 4) s Qiyed | 4) Condensation
i
: Pt TG st ] 180. Find the odd ’ .
173. The ----—-- sea was a shallow sea 173, QasmmT wpgd GsrawGiaumsnm, e i odd man out. - 180. QUTBESTSmESS SeaTEL
between the Angara and Gondwana @rain® Gufiu HelueSsende GG 2 ;) Petroleum 2) Natural gas DQULGIJTrsﬁ]uJﬁ 2()9@:;;:::2
lands SpuiBES YD SMDHS AL LGS ~ 3) Sulphur 4) Coal 3) siEsEi %) A e i
1) Tethys 2) Red T, \ o ) . .
3) Black 4) Arabian ) QLgBev 2) Qstisied :
3) HHRISLD 4) gnissL T ——
174. ------- district in Tamilnadu has the 174, ————— mrrml‘-t-#ssﬂ_és ?-mﬂsir WsUGUfw
world’s largest wind farm. srHpTens Hnieisrd 2 sTerg.
1) Dharmapuri  2) Dindigul 9 o 2) Hein @60
3) Kanyakumari  4) Erode 3) asrefllurgufl  4) FGITE
175. Judges - belong to - collar - 175. gBHudssr ~ ————— . suSguCamL
workers. uemfliwmerisefled Q|LriEeur. .
1) Red 2) Gold Dy 2 grus Him |
3) Pink 4) Blue 3) Qeuefiit Aeutiy By~ 4) Bl
i
~ g w3 s L seselie —_— ——
ann T i T R R A S O ST T TR —= - N -
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Ql . adlevL [ eUGLIL | L(H6uLD | LUSHSHLD
. Qg &er s Ly
(2015,+316)
91. Q{606 LILI6voTL] 1 7 1 9
92. 5x5x5=125 = 5° 2 8 1 42
93. P’g*+plq+p’  3+3=6 2 8 2 5
4a=6x+2; a= 6x+2 = 3Ix+1
4 2
9. =3 xdd 1
2 2
(= I)Y=@Ex-1D(x+1)
95. | 1 6T6iTLIG6TELELM TRV EREGLD CILITS|SSMT6wN 4
6TeaIGed ( X - 1) (I, SMJ6wT j6L6V.
QenewsgsHest LUy = bh &.9
b=8 Q&.8
96. bh = 400 Q.5 4
h =400. =50 Q.8
3
97. 180° 7 1 75
08. 100N : 12 I (1 eubLLD) 3
5x2=10:6x2=12 =5:6
QUL 86T [RBITLS6i
7 45
9 ?
09 | QLB HEFEE HTL&6T GMDU|LD. TaTGe 1
STHIFLOMMED.
7,845 = 35
9
WwaGanamsHer gCsmIbd Qe
100. | \\5amimemen Fa(hSH6L CLOGTMMTEUS LISSHHMS 4
ol oHsL. steorGeu, 3,4, 6
spflent Leoteoronsd LoMHM SLN&ES Ceue@BLb.
1L =1x7 =7 ; 1=1x5=3
101, 5 5x7 35 7:9.x5 35 3
1_3=2 eflenL : 1
35 352435 7
102. @rLenL eTevur 1 8 1 43
103. GWal LeGCaHTEILD 2 8 1 68
104. aN&5Lb 2 7 2 2
L b 36 36 x 10 = 360’
105. | FPOAS CamewLd éTeuGex I . : ‘o

&6V FLOEFT euflens = 10
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60L& 61

L&SLD
ugliy
(2015 — 16)

W& 5 usm ésmeen —2,3,5,7,11
aff& = IQSLOLMW eTevor - OSFAMIWL 6T
11-2=9

93

v

62

Q® Quiev eternielein UfSHSMIGaTN6EHT Fa(hFHedL =13

(2x2=4 ; 3x3=9 ; 4+9=13)

aNHGUOT 2iLeVG NHHLPMI 6T6v0T

-1
12

AN

LITerv&60

LU5& QeneuiliL§ Smhm

Qeullll &6V6uILD

WP 28 aHArmaiiy

25 Q&.L8

WWININFPIW W &~ o [

36 &.0 / e
& . Bl Lenyg BLLIHS  DIHDELD.
LOGUBTI6) L Q!‘_F)I'I'I.QJLII‘I’&S LOMHmHEYLD.
38l = 360008 (36 x 1000)

1 e = 60 MO MISeT
1 AL b =60 Qg ser
60 MILBILrusem = 3600 Qmpmg.sem ( 60 X 60 )
=18/eN

= 36000 =10
3600

"118.

QUIm(I, 6V _HlgNELILITS 2_6TTereuLD

199

119.

CeauSwmmme \Blssrarmmmeons THOLILIGENS)

116

120.

Sl6nm GeulileL lg

127

121.

G sblg

153

122.

Hh&Cymb

127

123.

QuepgLhieor LNFmmISHeeor

142

124,

mamL Crmr Lenpflés sifeold

215

125.

a-iii b-iv qikvd-i

112,113

"126.

LOMTMMADEY- B\ (IH SGLD

111

127.

@(pLY FeLemLD

244

128.

10 ° 1B L

165

129.

QeuliLblened GenMmeUHTeL

172

130.

Q@ evmevflest

WINFRPIAREWINN W AR RN

NIFRPIFRPEFPINDNENDNDNOWNIDNE

94

131.

QusafAD smamL Fréenero(®

N

~ |~ |~ |oo|oo|oo|Caloo|oo ||~~~

N

110
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60L& 61

L&SLD
ugliy
(2015 — 16)

616001

132,

SINeORISET S e0ILLbey FHTemen
BV - BIDLOMS LIHMILD

105

133.

SILDCeorm iLHleLLD

104

134.

S6TENEMEFIWITS 6TIf1%H60D

129

135.

15:85

134

136.

316060 GUL_L_LD

142

137.

a-iii b-i c-iv d-ii

179

138!

174,176

“139.

SILMeTNLIT LsQQEOLIE erv
1086

106

140.

1 &IV

147,148

141.

L)

65

142.

2_greN& e

79

143.

Quiflwimerolg. i

85

144,

a-ii b-iii c-iv d-i

193

145.

aNUGCUTHCHLL 6

161

146,

LOSTCLITEIT

207

147,

0 AMMGe

219

148.

Wpgeurmd GCsHHFeTLO6HT

430

149.

QeogisHleip

148

150.

CaITeL@LhUIT

166

151,

Qeagjagm

256

152.

fAaumgd) LHOID AQUIAR

2171

153,

a-ii b-ivc-ii d:i

279,280

1564.

u&eromy GUFE)-LY65

286,290,291

"155.

Urr3

153

156.

(pgevmd Qomgndly Campe

282

157.

il oMb iV

154-161

158.

&5 &6OTETEUTEFD (&N SHSHCHMTUTCD

241

159.

Qeamestm TedILIL

141

160.

LOIBHEF CEmper

260

161,

8 Cams

206

162.

SIS 4D

SUENIT--JENIENITe ] ENJloc] (o4 o ] [oc] [o-] ENI ENIENI EN] EX{ ENTTo 1 [o A ENIENIENITo ) oo 1 1e J ENIENI EN] EN] BEN
WWFRNRFRNRPR(N R RPRIRIRPRIwIN R IRIR IR IR N R N R R R lww ] D

210

163,

52

\I
H

211

164.

1098

aflenevuilebeon GMUIGCUL 1g.66r, L)

SHTLIDD ‘26T,

165.

1929

8

333

166.

unyssr £e

253

167.

a-ii b-i c-iv d-iii

264,268

168.

3liqwi(h&G UL W (H5G, SweNl(h S, Qeuenw(h &

)

5
5
2

168
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194
119
300
188
249
301
306
182
151
L)
141
293

LOflrEc SIS0
N ooHmd i
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e
pomeill GuTES
&H&&LD
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